Fill in the blanks with the correct word to make the sentence past tense.

1. The movie 10 minutes ago.
a. begins b. was beginning c. had begun  d. began
2. We in line for the ride for 40 minutes.
a. stand b. was standing c. has stood d. stood
3. Thereare of people in the room.
a. alot b. much C. many d. more
4, my parents and my brother will be coming with me to Dublin this summer.
a. each b. neither c. both d. None of the above
5. When he graduates, he will go to Germany to some experience.
a. have b. gain c. be d. take
6. After in America for 6 years, she finally moved home to Cork.
a. lived b. living c. have living d. had been lived
7. Mary went to the shops to buy some bread and at 8pm.
a. returned b. had returned c. returning d. has returning
8. the next 3 days | hope to travel around the west of Ireland.
a. at b. while c. over d. an
9. Toy Story 3 was successful movie of 2010.
a. most b. the more c. the most d. more
10. Before | came to Dublin | could hardly that the Irish people would be so
friendly.
a. imagine b. did imagine c. have imagined d. had imagine
11. I wish | more money with me last night.
a. have had b. did have ¢. had had d. Does have
12. The bus at 9:00pm tonight as usual.
a. leaves b. leaving c. will be left d. left
13. You're a teacher, ?
a.youis b. not you c.aren’tyou d.areyou
14. Go away, ?
a. go you b. will you c. do you d. does you
15. | much preferred it when we Scotland every summer on holiday
a. used to go b. have been going c. had gone d. Went



16. It’s a beautiful day. Let’s sit in garden
a.an b.a c. the d. no article

17. “Havoc” means:
a. Cutintwo b. Great damage and destruction. c. Outburst of excitement.
d. peace

18. “Strategy” means:
A. Distinguishing feature. B. Disturbance. C. Skillful planning D. Random

19. “we play cards on the second thursday of every month.” (For this to be a complete sentence,
which word(s) need to be capitalized?)
a. “We” b. “Month”, “Thursday”, c. “We” and “Thursday d. None

20. Each sentence given below has one word in bold. Identify which word is used as a conjunction
a. He tried, but did not succeed b. Stay till Monday c. Everybody but Ram was present
d. He saw him and shouted.

(Directions for 21-30) In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five words are
suggested, one of which fits the blank appropriately. Find out the appropriate word in each case.

Twenty years (21) now, nearly 60% of the World’s population will live in urban areas. The impact of
urbanization might not all be positive on India as urban expansion is happening at a much (22) rate
than infrastructure expansion. Sustainability issues need to be (23) so that economic development is
not at the (24) of public health. Some urban services that ought to be in (25) in a city like water,
electricity, transport etc. need special consideration. TERI has put together a detailed report that
(26) sustainability in the provision of basic urban services in Indian cities. (27) public transport is a
major reason for the proliferation of private vehicles on the road. Respiratory illness in children
living in urban areas is on the (28) with more cases of Asthma being (29) because of pollution. The
future of cities of Indian dreams depends of (30) we can build better cities today.

21. a. Till b. Since c. From d. After e. on
22. a. Faster b. Slower c. Changed d. Speed e. quick
23. a. Speculated b. Believed c. Imagined d. considered e. understand
24, a. Payment b. Rate c. Costs d. Charge e. Expense
25. a. Abundance b. large c. Functional  d. Vicinity e. Location
26. a. Bring b. Emphasizes c. Speculates d. Postulates e. requests
27. a. Good b. Competent c. Absence d. Inadequate e. Sufficient
28. a. Multiplication b. expansion c. Rise d. Inflation e. Grow
29. a. Produced b. Develop c. Composed d. Resulted e. Reported
30. a. If b. Whether  c. Unless d. Provided e. Weather
31. The point you are raising is not to the subject.

a. Proper b. Fit c. Required d. Pertinent
32. He bought new shoes last month but they are already out.

a. Given b. Gone c. Knocked d. Worn



(Directions for Q. 33 to Q. 37) Rearrange the following six A,B,C,D,E and F in the proper sequence
to form a meaningful paragraph and then answer the following question.

A. The reasons for their happiness was that they had come to the Vithal temple of Pandharpur to see
their beloved Lord.

B. There were rich, poor men, women, children, blind, handicapped among them

C. They were all in a very happy state of mind, as was apparent from their glowing faces.

D. They would worship and seek the Divine blessings while in Pandharpur.

E. It was an auspicious day and many people had assembled in the temple

33. Which of the following should be the Fourth statement after rearrangement?
a. A b. B c.C d. D

34. Which of the following should be the Fifth statement after rearrangement?
a. A b. B c.C d. D

35. Which of the following should be the Sixth statement after rearrangement?
a. A b. B c.C d.

36. Which of the following should be the First statement after rearrangement?
a. A b. B c.C d. E

37. Which of the following should be the Second statement after rearrangement?
a. A b. B c.C d. D

38. Below the four words are given. One of these four words may be wrongly spelt. Find out the
word which is wrongly spelt, if there is any. The number of that word is your answer. If all the
words are correctly spelt, mark all correct as the answer.

a. Adventure b. Demonstration ¢. Environment d. Innosent

39. Below the four words are given. One of these four words may be wrongly spelt. Find out the
word which is wrongly spelt, if there is any. The number of that word is your answer. If all the
words are correctly spelt ,mark all correct as the answer.

a. Lucrative b. Ancestral c. Performanse d. Incidentally

40. Antonyms of “Convenient”
a. Handy b. Suited ¢. Unsuitable d. Comfortable



